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s =211.728+129.38471(Y —2000) +13.176396(D + L)
h = 279.974 - 0.23871(Y — 2000) + 0.985647(D + L)

p = 83.298 + 40.66229(Y — 2000) +0.111404(D + L)

N =125.071-19.32812(Y —2000) + 0.052954(D + L)
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@, =15a, + 0.54901652a, +0.041068644a, + 0.00464181a, (deg/ hour)
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No. | 571 | T| s |h| p Fi Ui

di | @2 | a3 | a4
31 M, | 2] -2 0 0 fM> uM;
32 | MKS; | 2| -2 0 0 fM*fK, uMa+uk;
33 A2 21 -11]0 180 M, uM;
34 L 2| 1 -1 | 180 fL, ul,
35 T. [2] 0 |-1 283 1
36 S2 [2| 010 0 1
37 R [2| 0 |1 257 1
38 Kz [2]| 0 |2 0 K2 ukz
39 [MSN, (2| 1 |0 -1 0 (fM,)? 2uMy
40 Kl | 2] 1 |2 -1 180 | fKi*f)y uKi+uly
41 | 2SM; (2| 2 (2| O 0 M, -uM;
42 | MOs | 3| -4 | 3| 0 | 270 | fM*fO1 | uMa+uO;
43 Ms (3| -3 [3]| 0 | 180 | (fMp)32 3/2uM;
44 | SOs |3 | -2 1| 0 | 270 fO1 uO1
45 | MKs | 3| -2 [ 3| 0 | 90 | fMx*fKy uMa+uKs
46 | SKs |3 0 |1| 0 | 9 K1 uky
47 | MNg | 4| -5 | 4| 1 0 (fM2)2 2uM;
48 Ma (4] -4 (4| 0 0 (fM,)2 2uM>
49 | SNy | 4] 3|2 1 0 M, uM;
50 | MSq | 4| -2 |2]| 0 0 M2 uM;
51 | MKs | 4| -2 |4]| O 0 fM2*fKy | uMa+ uky
52 Sa | 4 0| 0 0 1 0
53 | SKs | 4 2| 0 0 fK2 ukz
54 [2MN¢ | 6| -7 | 6| O 0 (fM,)? 3uM;
55 Me | 6| 6|6 0 0 (fM2)? 3uM;
56 |[MSNe¢ | 6 | -5 |4 | O 0 (fM,)2 2uM>
57 | 2MSs | 6| -4 | 4| O 0 (fM2)? 2uM,
58 |[2MKs | 6| -4 | 6| O 0 | (fM2)¥*fKa | 2uMa+ ukz
50 [ 2SMe | 6| -2 | 2| O 0 M, uM;
60 | MSKs | 6| -2 |4 | O 0 fM2*fKy | uMa+ uky
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fi iz #ic ui i

1 cosN Cos2N Cos3N sinN sin2N Sin3N

Mm | 1.0000 | -0.1300 0.0013 0.0000 0.00 0.00 0.00

Mmf 1.0429 0.4135 -0.0040 0.0000 -23.74 2.68 -0.38

0]} 1.0089 0.4135 -0.0040 0.0000 10.80 -1.34 0.19

Ki 1.0060 0.1150 -0.0088 0.0006 -8.86 0.68 -0.07

J1 1.0129 0.1676 -0.0170 0.0016 -12.94 1.34 -0.19

00: | 1.1027 0.6504 0.0317 -0.0014 -36.68 4.02 -0.57

M: 1.0004 | -0.0373 0.0002 0.0000 -2.14 0.00 0.00

K2 1.0241 0.2863 0.0083 -0.0015 -17.74 0.68 -0.04

fMm=1.0000*1-0.1300*cosN+0.0013*cos2N+0.0000*cos3N
uMm=0.00*sinN+0.00*sin2N+0.00*sin3N

L, fcosu=1=0.2505*cos2p-0.1102*cos(2p-N)-0.0156*cos(2p-2N)-0.0370*cosN
fsinu=-0.2505*sin2p-0.1102*sin(2p-N)-0.00156*sin(2p-2N)-0.0370*sinN

M1 f*cosu=2*cosp+0.4*cos(p-N)

f*sinu=sinp+0.2*sin(p-N)




